1.

UA7E v,y )1 LA

a o] gH& Ftelet.

HEM ax -y

s
=¥

-5 9]

a7k (2, —1) € o,



2 A ax+ by =11

o] 7t (2, 3) ¥ W, a* + »* O F
—-bx+4ay =6



0.3x— 0.4y = 0.4
0.2x+ 0.3y = 1.4

WES ), 49 e FohH?

O 7t LAPFEA x4+ 3y =A

@D 10 ® 11 3 12 @ 13 B 14

i



y+21 = =3x+4y = x + 2y + 225 Zojz},



A, B % Z79 A7t ook A 22} 4 7iet B 22 3 Q] A
4700 Holal, A I=Fe] 7FA-2 g TpAte] 7HA ETt 300 ¢ T B TR
ettt A 32} g 7fet B AF gt o] A7

© A 400 Y, BIHAF 100
@ ATA} 500 9, BIHA : 200 Y
® AR : 600 Y, BIAF @ 300 Y
@ A} 1700 Y, BIEA}F 400

® AR 800 ¥, BIA} : 500 ¥



6. AA=Fx, y ol diste] EAPFA A 3x+ 4y = 20 ] SE 5 A-2?

DO x=2,y=4 @ x=3,y=4 ® x=4,y=1

@ x=4,y=2 ® x=6,y=1



=09 g 0, A a 9 G222

@ 4 ®

ol o



Ay E 275t E 0, 28

@ O+Ox2
@ Ox2+@+0©

o}

his



3x+4y =10

i

a

D

a



of a7k (5.1) & o, k o] gL& 73}



4x+y)-3y=-7
11. =upga) (x+y) =3y
3x-2(x+y)=5

o & Fsfoler.

v
m

b x=a, y=b 2wl 3a-b



®1

olJ
&
o
) —~ e
03

Nir @
[mt

o



13.

A, B 5 Aol ZHeJuERIELE Sto] o] K] ARR2 3 AT ZErhAl,
A A2 1 AGH W77 2 shdeh A & AR 10 AT,
B =2 AYE &gk W, A 7t ol Y (&, vVl A=
glct.)



Tp



15.

g4dol7t 6m=
918]7} 2km g

Be ¢l Wol=9mE e £z, GHol¢
AN M=z v AAEY 1025k 7t

=
W, Gole] At &L Fofelel,

Yk
=

m,/min



16.

=
FA| Hit o s EW 5 R
Sof whdtt, Hofeo] L8 o] x5t &
22 dnjlrt?
@® 120m /& @ 150m /&
® 250m /&

@ 200m /&

#le] Aol7t 2km <1 847 Qlok. Aotet Hsh=
Fof T ZeWFOoR =20 F

o540 =Y E

Zeurt wacy v, A5}

® 180m /&



17. %5719% 9 AFET 5% ¢ AFES AojA &7 6% ¢l AFE
1200g & W=2al stk 5% o] AFE E g & 4] o]oF sh=71?

@ 600g @ 700g ® 800g

@ 900g ® 1000g



Xy
of ukAg Al 3+4_2
0.1x4+0.3y=1.5

2a — b O] F2?

D 1 @ 2 3 3



AYLHA 5
y=-3x

2x =3y =
y=x—-2
x—y=2
x—3y=0

x+y=0
@ y

2x -2y =1

x+y=7
@ y

x—y=-7



20. I AEZYE 20%, of
30%, oF1-& 10% ESHet g+
9kg, oFdLS 10kg°é°E%E'i




